Analogy
Self-Evaluation Test

Select the pair which is related in the same
way as the pair of words given in question.
Courageous : Brave : :
(a) Soldier : Army
(c) Circle : Round
(e) None of these

(b) Cowardly : Afraid
(d) Letter : Word

Fill in the blank.

Robust : Delicate : : Sick : .............
(a) Weak (b) Wealthy

(c) Rich (d) Healthy

(e) None of these

Select the pair which is related in the same
way as the pair of words given in the
question.
Admit : Deny : :
(a) Hire : Worker
(c) Deer : Woods
(e) None of these

(b) Scholar : Serve
(d) Innocent : Guilty

Choose the pair which is related in the
same way as the pair of words given below.
Spark : Wildfire : :

(a) Lightning : Electric
(b) Snowflake : Blizzard
(c) Thunder : Lightning
(d) Tidal wave : Tsunami
(e) None of these

Which pair is related in the same way as the
pair of words given below?

Lion : Lioness : :

(@) Nymph: Cockroach (b) Tiger: Tigress
(c) Donkey: Trot (d) Whale: Mammal
(e) None of these

Select the pair which is related in the
same way as the pair of words given in the

question.

Doe : Stag : : :

(a) Birds : Aviary (b) Dog : Bitch
(c) Girl : Boy (d) Stag : Fawn

(e) None of these
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Which of the following pair is related in the
same way as the pair of words given below?
Frog : Croak : :
(a) Horse : Neigh
(c) Rabbit : Leap
(e) None of these

(b).Camel : Grunt
(d) Both (a) and (b)

Select the pair which is related in the same
way as the pair of words given in the
question.

Duck : Duckling : :
(a) Stag : Fawn

(b) Butterfly : Caterpillar
(c) Hen : Chick
(d) All (a), (b) and (c)
(e)

e) None of these

If ‘135’ is related to ‘136’ then, ‘205’ is
related to which of the following?

(a) 306 (b) 206

(c) 209 (d) 207

(e) None of these

‘Entire’ is to ‘Whole’ as ‘Clever’ is
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(a) Skilful (b) Fool
(c) Short (d) Long
(

e) None of these

What comes in the blank?

Lion : Mammal : : ............ : Insect
(a) Goat (b) Buffalo
(c) Tiger (d) Ant

(e) None of these

If ‘223’ is related to ‘224’°, then ‘534’ is
related t5o0 ................

(a) 553 (b) 535

(c) 353 (d) 538

(e) None of these

‘Meter and Kilometer’ are related in a
particular way. Following the same pattern
‘Minute’ is related to which of the
following?

(a) Hour

(c) Time

(e) None of these

(b) Quintal
(d) Weight



‘Engineer’ is to ‘Site’ as ‘Nurse’ is to...........
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(a) School (b) Hospital

(c) Cockpit (d) Playground 1. (B) 2. D) [3. D [4. (B) 5. (B)

(e) None of these 6. C) |7. D) |8 (D) |9. (B) |10.(A)
11. (D) | 12.(B) 13. (A) 14. (B) 15. (B)

If ‘Nepal’ is related to ‘Kathmandu’ then 16. (C) 17. D) 18. D) 19. (B) 20. (A)

‘Poland’ is related to which of the

following? Explanation

(a) Doha (b) Warsaw Option (b) is correct because ‘Courageous’ and

(c) New York (d) Germany

(e) None of these

‘Charminar’ and ‘Hyderabad’ have same
relation as ............... have

a) Taj Mahal and Jaipur

b) Golden Temple and Patna

c) Golden Temple and Amritsar

d

e

Rock Garden and Patna
None of these

(
(
(
(d)
(e)

Put the right option in place of the question
mark (?).

LMN : OPQ : : TUV :?

(a) TVL (b) XZA

(c) XWY (d) WXY

(e) None of these

Replace the question mark (?) with suitable

‘Brave’ have similar meaning. In the same
manner, ‘Cowardly’ and ‘Afraid’ have also the
similar meaning. Rest of the options is incorrect
because words in option (A), (C) and (D) have
small-big relationship. Option (E) is useless
because of the correctness of option (B).

Explanation

Option (d) is correct because the given problem is
based on opposite relationship. ‘Robust’ is
opposite to ‘Delicate’ and in the same way
‘Sick’ will be opposite to ‘Healthy’. Rest of the
options is incorrect because of the correctness of
option (d).

Explanation

‘Admit’ is opposite to ‘Deny’ in the same way
‘Innocent’ is opposite to ‘Guilty’. So/ option
(D) is correct choice.

option.
. .. .9
Mo;lél; :30:: Leap Yea; .3.6 . Explanation
(a) (b) ‘Spark’ is related to ‘Wildfire’ in the same way
(c) 368 (d) 366

(e) None of these

‘Rupees’ is related to ‘India’ and in the
same way ‘Dollar’ is related to which of the
following options?

(a) Pakistan (b) USA

(c) Vegetables (d) Fruits

(e) None of these

Find the correct option to replace the
question mark (?).

Receiver : Phone : : ? : Computer

(a) Monitor (b) Train

(c) Mobile (d) Aeroplane

(e) None of these.

‘Snowflake’ is related to ‘Blizzard’. So, option
(b) is correct choice.

Explanation

Option (b) is correct. A ‘Lion’ is a male while a
‘Lioness’ is a female lion. Similarly, a ‘Tiger’ is
a male animal while a ‘Tigress’ is a female.
Hence, both pairs of words exhibit analogy.

Explanation

Option (c) is correct. A ‘Doe’ is a female deer and
a ‘Stag’ is a male deer. Similarly, a ‘Girl’ is a
female while a ‘Boy’ is a male. Hence, both pairs
of words exhibit analogy.

Explanation

Option (d) is correct. A frog croaks. Similarly, the
options (a) and (b) show the relation between
animal and the sound they make. The option (c)



10.

11.

12.

13.

shows the relation between animal and their
movement. Option (e) is useless because of the
correctness of option (d).

Explanation

A duckling is the young one of a duck in the
same way a fawn is the young one of a deer.
Similarly, caterpillar is the young one and of
butterfly and a chick is the young one of a hen.
So, option (d) is the correct choice.

Explanation

Option (b) is correct because the given problem is
based on sequential relationship. ‘135’ comes
just before ‘136’ in the number counting and in
the same way ‘205’ comes just before ‘206’ in
the number counting. Hence, (b) will be the
correct answer choice. Rest of the options is
incorrect because of the correctness of option (b).

Explanation

Option (a) is correct because the problem is based
on synonymous relationship. ‘Entire’ and
‘Whole’ are synonymous and similarly, ‘Clever’
and ‘Skilful’ are synonymous. Rest of the
options is incorrect because of the correctness of
option (A).

Explanation

Option (d) is correct because a ‘Lion’ is a
mammal and in the same way an ‘Ant’ is an
insect. Rest of the options is incorrect because of
the correctness of option (d).

Explanation

Option (b) is correct because the given problem is
based on sequential relationship. In the number
counting sequence ‘223’ comes just before
‘224’ and in the same way ‘534’ will come just
before ‘635’°. Rest of the options is incorrect
because of the correctness of option (b).

Explanation

Option (a) is correct because ‘Kilometer’ and
‘Meter’ are the units of distance but meter is
smaller than kilometer. Similarly “Minute” and
“Hour” are the units of time but minute is smaller
than hour. Rest of the options is incorrect because
of the correctness of option (a).
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Explanation

Option (b) is correct because this problem is
based on worker and working place relationship.
‘Site’ is the working place for an ‘Engineer’ and
in the same way ‘Hospital’ is the working place
for a ‘Nurse’. Rest of the options is incorrect
because of the correctness of option (b).

Explanation

Option (b) is correct because the problem is based
on country and capital relationship.
‘Kathmandu’ is the capital of ‘Nepal’ and in the
same way ‘Warsaw’ is the capital of ‘Poland’.
Rest of the options is incorrect because options
(a), (c) and (d) are the cities of Australia but none
of these is the national capital of that country and
option (e) is useless because of the correctness of

option (b).

Explanation

Option (c) is correct because ‘Charminar’ is
located in ‘Hyderabad’ and in the same way
‘Golden Temple’ is located in ‘Amritsar’. Rest
of the options is incorrect because of the
correctness of option (c).

Explanation

Option (d) is correct because the problem is based
on sequential relationship. ‘LMN’ and ‘OPQ’
form continuous sequence in the English alphabet
and in the same way ‘TUV’ and ‘WXY’ form a
continuous sequence. Rest of the options is
incorrect because of the correctness of option (d).

Explanation

Option (d) is correct because the question is
based on miscellaneous pattern. A ‘Month’ has
‘30’ days and similarly, a ‘Leap Year’ has ‘366’
days. Rest of the options is incorrect because of
the correctness of option (d).

Explanation

Option (b) is correct because ‘Rupees’ is the
currency of ‘India’ and in the same way ‘Dollar’
is the currency of ‘USA’. Rest of the options is
incorrect because of the correctness of option (b).

Explanation
Option (a) is correct because the given problem is
based on part and whole relationship. ‘Receiver’



is a part of a ‘Phone’ and similarly, a ‘Monitor’
is a part of a ‘Computer’. Rest of the options is
incorrect because of the correctness of option (a).



